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I THEEREER (tautological) ~ SEE (contingent) B FJEHY (contradictory) ?
LP>@VR)AQ>~R) (~(~P >0 AR)v~(Q < R) (10 %)

2. (VX)(Vp)(¥z) (Rxy A Ryz) = Rxz) A (Vx)(@Y)Rxy A (Vx)(Rxx — (Vy)(Rxy = ~Ryx)) (10 %)

II.

1. {(3x) (4x A Bx) = (Vx) (Cx = Dx), (3x) (Cx A Dx), (Vx) (dx > ~Bx)} BHEEB—HHY
(consistent) ? (10 %)

2. MEmiE R AR ?

(Fx) (Ax A Bx) = (Vx) (Cx — Dx)

(3x) (Cx A Dx)
/. (¥x) (Ax > ~Bx) (10 %)
L 7 9 0 0 SERARIBNY B (connectives) + HIE AT T 5 HEFRNE
(THRTREME  FERRERED:
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AR - x0 SEEEEERT P70 (10%)
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IV. 55 Mo a) 82 iE o=, (Vx: “for all x” » 3x: “for some x7) :
1. Someone is loved by everyone. (domain: human beings; Lxy: “x loves y”) (2 %)

2. No one who attends college is ignorant. (Px: “x is a person”; Ax: “x attends college”; [x: “x is

ignorant™) (3 %)

3. No one learns anything unless he teaches it to himself. (Px: “x is a person™; Lxy: “x learns y”; Txyz:

“x teaches y to z7) (5 %)

4. Everyone loves exactly one person. (domain: human beings; Lxy: “x loves y”; Sxy: “x is the same

person as y”’) (5 %)

5. Everyone admires the most intelligent person in the world. (domain: human beings; Ixy: “x is more

intelligent than y”’; Axy: “x admires y”’; Sxy: “x is the same person as y”) (5 %)
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1. P>(Q—-R

~§—>(PVvR)

P—-Q

/.. RvS . (10 %)
2. }— (Vy)(3@x)Ax = By) & (Vy)((Vx)Ax — By) (10 %)

3. (¥x) ((Ax v Bx) - (Cx A Dx))
/. (3x) (Ax v Cx) = (Ix) Cx (10 %)



